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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

The two groups of students should be taught differently in that their learning needs are
quite

1) bizarre 2) distinet 3) stable 4) reckless

This mildly picaresque novel a boy's flight from prep school to an eventful
weekend in a big city.

1) recounts 2) accumulates 3) asserts 4) restricts

The two companies worked in and lowered their prices to make their rival
company collapse.

1) ambivalence 2) validity 3) chaos 4) collusion

The U.S. was accused of international efforts to combat global warming.
1) regretting 2) convicting 3) undermining 4) accelerating
Richard is so that his diet consists almost exclusively of catfish and chicken
liver-the two most inexpensive foods in the store.

1) frugal 2) timid 3) selective 4) astute

Even after traveling 62 miles, the runner kept on moving.

1) congenial 2) indefatigable 3) flimsy 4) indifferent

As we traveled to college for the first time, the family car was laden with books, clothing,
, and other necessities.

1) warehouses 2) amenities 3) fragments 4) appliances

When Eileen me to a fight, I could see the hatred in her eyes.

1) strengthened 2) derived 3) challenged 4) justified

People like to be around George because he is so and good-natured, so it comes
as no surprise that he has so many good f{riends.

1) affable 2) sarcastic 3) superficial 4) half-hearted

The new tax policy was criticized in that it was argued that the rich were actually the
main of the tax cuts.

1) hedonists 2) savants 3) benefactors 4) beneficiaries

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

| each space. Then mark your answer sheet.

Quantum teleportation exploits some of the most basic (and peculiar) features of quantum
mechanics, (11) in the first quarter of the 20th century to explain (12) at the
level of individual atoms. (13) the beginning, theorists realized that quantum physics
led to a plethora of new phenomena, (14) defy common sense. Technological
progress in the final quarter of the 20th century has enabled researchers to conduct many
experiments that not only demonstrate fundamental, sometimes bizarre aspects of quantum

mechanics but, (15) in the case of quantum teleportation, apply them to achieve
previously inconceivable feats.

1) invented a branch of physics 2) a branch of physics invented

3) a branch of physics was invented 4) that invented a branch of physics

1) occurrence in processes 2) that processes that occur

3) processes that occur 4) processes of occurrence

1) Since 2) Of 3) From 4) For

1) some of which 2) some of them 3) some of those 4) of them some

1) also 2) as 3) like 4) such a
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PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

17-

18-

Passage 1:

Because most people do not volunteer to pay taxes or police their own financial affairs,
governments cannot influence economic activity simply by asking people to pollute less, to
give money to the poor, or to be innovative. To accomplish these things, governments have to
pass laws. Since the early twentieth century, governments of countries with advanced industrial
or service economies have been playing an increasing role in economics. This can be seen in
the growth of government taxation and spending, in the growing share of national income
devoted to income-support payments, and by the enormous increase in the control of economic
activity.

The large-scale organization of business, as seen in mass production and distribution, has
led to the formation of large-scale organizations—corporations, labor unions, and government
structures—that have grown in importance in the past several decades. Their presence and
growing dominance have shifted capitalist economies away from traditional market forces and
toward government administration of markets.

In the United States, government provides a framework of laws for the conduct of
economic activity that attempt to make it serve the public interest. For instance, the individual
states and the federal government have passed laws to shield investors against fraud. These
laws specify what information has to be disclosed to prospective investors when shares of
stocks or bonds are offered for sale. Another important area of law concerns the labor force,
such as regulation of work hours. minimum wages. health and safety conditions, child labor,
and the rights of workers to form unions. to strike. to demonstrate peacefully. and to bargain
collectively through representatives of their owr choosing.

In other nations, the ways in which governments intervene in their economies has varied:
however, governments everywhere deal with essentially the same issues and participate in
economic activity. Even governments that are reluctant to regulate commerce directly have
undertaken large-scale projects such as hydroelectric and nuclear energy developments,
transportation networks, or expansion of health, education, and other public services.

What can be the best title for this passage?

1) Big Business Organizations 2) Economic Activities People Do
3) The Role of Government in the Economy  4) Laws for the Conduct of Economic Activity
According to the passage, governments intervene in economic activity because ----------- i

1) the economy would fail without the help of government

2) people do not willingly regulate their own business affairs

3) businesses pay governments to participate in economic activity

4) governments understand the economy better than anyone else does

The word “this” in line 5 refers to --------- -

1) economic activity 2) increasing role in economics
3) asking people to pollute less 4) the early twentieth century
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According to the passage, how has the growth of large-scale organizations such as
corporations and labor unions affected capitalist economies?

1) It has led to the increasing role of government in economic activity.

2) It has forced governments to pass laws protecting traditional markets.

3) It has caused unfair competition between large and small businesses.

4) It has destroyed capitalism and replaced it with government ownership.

In paragraph 3, the author mentions laws to shield investors against fraud as an example
of laws that ---------omn- :

1) organize business 2) protect the labor force
3) set the price of stocks 4) serve the public interest
Passage 2:

By the 1840s, British North America had developed a vibrant commercial economy based on its
abundant natural resources and a growing international trade. Fish, furs, timber, and grains represented
over 90 percent of all economic activity. The oldest of the resource commodities, fish, was traditionally
associated with Newfoundland and continued to dominate that colony's economy throughout the
nineteenth century. The other traditional resource, fur, had a much smaller economic value compared to
other resources. However, the fur trade was of tremendous value politically because it provided the means
for Great Britain to retain its claim over much of Canada, and also formed the basis of the relationship
between the British and the aboriginal peoples.

Timber and grain eventually replaced fish and fur in economic importance. Every province of British
North America except Newfoundland was involved in the timber trade. In New Brunswick, the timber
industry controlled every aspect of life, and settlement was closely connected to the opening of new
timber territory. In the extensive agricultural lands of the St. Lawrence Valley and Upper Canada, wheat
quickly became the dominant crop. Wheat met a growing demand abroad and it transported well as either
grain or flour.

Which source was the earliest to contribute to the economy of British North America?
1) Fish from Newfound land 2) Fur from across Canada

3) Wheat from Upper Canada 4) Timber from New Brunswick

According to the passage, what is the main reason for the importance of the fur trade?
1) Fur had more economic value than any other natural resource.

2) Fur formed the basis of the local economy everywhere in Canada.

3) The fur trade supplied all of the fur needed in Great Britain.

4) The fur trade allowed Great Britain to control a large part of Canada.

Which statement best describes the British North American economy around the 1840?
1) Economic activity varied greatly from one province to another.

2) The economy was based mainly on the exportation of timber and wheat.

3) Four important resources supported most of the commercial activity.

4) Great Britain maintained strict control over all aspects of the economy.

The word “dominant” in line 13 is closest in meaning to --------=------ .
1) expensive 2) original 3) main 4) special
According to the passage, in New Brunswick -------------- .

1) the timber industry had great economic importance

2) everybody was involved in the timber and wheat trade

3) a new timber territory opened and controlled all aspects of economy
4) the timber trade paved the way for the development of wheat trade
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Passage 3:

By the decades just before the Civil War of the 1860s, the Southern states had developed
an economic culture distinct from that of the North. The economy of the South depended
largely on two things: cotton and slave labor. Because of the rising demand for cotton from the
mills of England, and the invention of the cotton gin in 1793, the cotton production of the
South increased tremendously. In 1790, cotton output had been 9,000 bales a year, but by the
1850s, output had soared to five million bales. In the South. cotton was "king." The most
readily available source of labor was the institution of slavery. Thus, cotton and slavery
became interdependent, and the South grew more reliant on both.

This was in sharp contrast to the North, where farming was becoming more mechanized
and diversified. Northern farmers would boast of improvements in the form of new roads.
railways, and machinery, and of the production of a variety of crops. In the South, however,
farmers bought laborers instead of equipment, and a man's social status depended on the
number of slaves he owned. The economic differences between the two regions would
ultimately lead to armed conflict and the social restructuring of the South.

What is the passage mainly about?

1) The Civil War of the 1860s

2) The development of the economy of the South

3) Farming during the Civil War of the 1860s

4) Economic cultures in the North and the South

Why did the southern output of cotton greatly increase hetween 1790 and 1850?
1) Southern farmers invested in transportation.

2) Southern cotton was superior to Northern cotton.

3) The South was trying to dominate the North.

4) Mills in England demanded more cotton.

What was associated more with the North in the period discussed?

1) Slave labor 2) Farm machinery ~ 3) Military service 4) Reliance on one crop
The author argues that the Civil War between the North and the South ----------- ‘
1) was largely the result of economic differences

2) forced the South to produce different crops

3) began in 1790 and lasted almost seventy years

4) was a conflict over control of the cotton trade

What is the writer’s purpose in the second paragraph?

1) To describe the activities of Northern farmers

2) To tell the reader when farming became mechanized

3) To compare and contrast farming in the North and in the South

4) To talk about the economic differences between the North and the South



Sllone ploit Jono

¥ axio S11A 3 5 sl

23 9ol90 31 S o1 wyles Jlas! (Jsl £59) JalS Cansd and 5 Lzl 51
] Cawyo

el il )3 sl old, aslsl b L ols, asla! ()

sl JolS Sl L Jobes Sk ols, 48l (Y

] JalS el 51 jzaS 5L ols, adlsl (Y

Al S 90 2 Y 5 ) (glaas, 5§ (F

e g0 ko Slge Wy )3 7 )3 1 995 ol )0 a5 (59,8

Sl 03303 Ak 1) peS 4 iy Jol ()

Sl o3ged Al 1) 00uS' B pas Mac b, adsl ool (Y

ok 03,55 Ak 1 005 pao DMae 3, sl sl (F

Sl 03903 (a8 |y 00T B pae sl i ezl Lol (F
Wbl ) g0 VU SO Lol Sos azils

Sy wblgs Jolei 4 C g B g A bl 51 & plus 50 0uiaS'd pao

Ll ales ()

o 528 5o Lol 15 A adais (¥

ol 0ly 2ES gl Lolis 15 B adais (¥
s s e S5 lls akas g3 sl 45 Lales 1555 C o B s (F

Q

Wbl 5 g0 X Y LA g adye pilgi 1
QY =yos—rP
Q*=-Yo+YP

oldy adlil S i P =Yoo Jolro Jolai Caond 3 1) Gl Canud &g 9

13,5 walgs puudi jodz (£loda

by go Gal5dl 3y Yoo ()

b oo el axly Yoo (Y

Al oo Gials8l asly Foo (¥

b e yhals axly Foo (F

1) ol (o3 0aiiS'S yuan Jgono Lo (Somio candd

e Jloyi YIS ()

el (g3 VI 5l (AL (2l Semgllan (¥

ol 00zalS Y (gl 0aiiS' B pas gy Lee i (V

ROWE [PV LPRUEC S JPVRRON JPICHIR FOPNR ' L34 ¢

-

=Yy

Yy

Yo



Slilone ol Jono

Y axio S11A 3 5 sl

099= 9= 9 X YU (109 g5 (gouiad (LA b Cangllao ailgi 1 G plas
fewly YU

X :
u=— (v u:%(\
y X
u=xy‘r (¥ u=xy (v

30 bl o U= Min(FX, YY) &)s0 4 5looiisS' S pao Cusglho 20U
Wz g X sty wiz Jolai powdl M=1Y0 g Py =Y Py =1 &5 J 50
o9 0 S pao y w2l

Y=12 ¢ X=1Y (Y y=Y ¢x=¥(
Y=YV s X=YF (F Y=YA g X=17 (Y

7153 =55 X QYL (Gl pilojluil g il Jals X (YIS Caand 551
1&g ol 30 bl ol ool yo

!l Jgane SV S X (Y ol oy VIS S, X ()

sl Sy VG Y (F Al s S YIS X (Y

9P s Gylo g (b X Lol poe Y g X oV 90 slis G 50
X YU Cooud pudi F1 )0 U paro = Caoud S Wy (il 0 el

el 8l s IS5 & ()

Al o a8l atngn (Y

el (5 aomly laiend 53 5 g3gne Vb slacuens )3 (F

ol g35me b slaced )3 5 (Jap Yl slacers o (F

DS g Cudlnd By A o1y 90 L o 40 & asiler Wi jlazil 1L G 0

995 Jolsi
Sylad A8kl ol b (3,8 s (F ! g o2 g A o2 (Y

s P=10—0; oYX &jgm0 dm i i dmy (5,5 bail 4l 30 9 LW aolgi
Pl gl 4 5 skanil olfoy v lo a5 g0 yo el MC = +0, 01X
=3l led ST 1) 993 (igy8 5 ol el 53 90K sl Sgas (33905

RUC 2 - b el plp Jole jlade jo
Voo (Y Ao ()
Yoo (F o (¥

adgi @l gl as L3, ol Sy Sy LS 59 Lol s
! P‘JJ ).!|).? ‘._\_".‘,bgo Q — LzlﬁK"-'/f

Ve o0 ()

Y0 (f \',/A (Y

-Yy

=Yy

-YA

-4

R

-

-¥Y



Sluilone plit oo

A axio 511A 3 5 sl

CaniS o0 oyl 4952 |) 4l 3a @ly 9 gl @ilyi bLS,

5 et g Ly, Wl oe 450 5 0 a5 £ s (O
s gl Bl (S weSae an e il (F

s 35 g usSas atsze il (F

AEp 355 g Spem iy plg (F

by bl Sgu (30905 Y50 jeliie 4y o8y ) syl 51 S plas 5o
falad oo wdgi P=MC

Jol5” JLasst 5L ()

JU B, L (Y

(s> wz) gloantg 3wz Jlaxl JfiL (¥

B T )3 3|90 e (F

tlts iz 38 Aibly 033 oS T g T =T(X) b il X 03l adye g4 551

\
! 4 35 pluS € pggdo .0 dlgs r(\+z) O yge0 4 X 00lys
oolys slols oS 3 S Vwiﬁ Q
o3l ol o 4y Co 00l 4,0 2S5 (Y
o3l o1 4d ye &) Caands 00l Caand 2 (Y
ool@oim‘ 3 4y o 00l glolE piS (F
S (o0 Cedlad (g lazil Cald) 51l o0 aF (addgi sy S Waeaddy IS5 4k 38
alais 15 453y yricdsl LTC =0/ 001" —0,0q" + Yooq e 4
Pl (83) (5yamai Lol Bl s tabl aalg q =Yoo Gue wily Jolai

fowl plas
oV (Y oy ()
°) Y (Y oy of (Y

s'..&.ﬁl.g éélﬂ """9“&5" 2 ..\.QJ,J' el’i' j| v.&_i' ‘QL\S Gl.a.'.b )Laa.ﬂ )|jl.g )L‘.‘.il.u )
=\

Q=A[SKP+(-§LP] P
Vv

Qi =A[SK P+(-dLP] P v

Q; =oLK, +¥K{ (v
Ay

Q; =YLIK{ (f

-fY

-Fo

-5

-fv



Sllone plovt oo

q axio S11A 3 5 slausl

il (Q = P%) cub iod S LS Sonia 5(©) bl 1les 430 azilir
0SS paro 33l a1 yg00 (3l 30 el (€ < —Y) Lol Jieud il Silue
Sl plas” plp 9By Caond b 00iiS'S pao oljlo 4 (5 baznl Cuwosd b

e+
C
\ e+
\+E
- \
Y — \
e+) ( \ (
\+e
Pe+\ c
e+ ¢ \ .
162
c

S ygmo dmy oL Sy b Ay i Al A cwl oLy Yoo gyl i

OF SRR PIRE FPWE SV T S PO TCi=Aaq{+Yooqi—\/\qu

Hlcwl o)le
P=Yoco—0Q (Y P=Yoo—-\Yoq; (A
P=\ooq; +Yoo—NQ (f P=Yoo—-yyQ (v

£93 55k 5o Lol e Sl o = plp Jsl 55k o LA (o8 (ALS )51
Wbl Al 1y 5150 90 30 Sowd Land Jlos!l wuad )5 jlazil 9wl — O plp
Cog ablas digRs dinty LBl Cunnd

P, =\,YP, (¥ Py =0,#P, (A
p\ = \_IIYPV (? P\ = O./?PY (‘”
fownl oo b plp .\,.J,JMMLAC oS gy aalel 51 SO plas yo
e 2
Q=\oLK (v Q=Mm[?,K] O
A
Q=LK (¥ Q=LK (v
Cam] plUS (A po S o i ol 410905 50
e
S
A A abis s ()
B B aks 2 (Y
C "ﬂ’; C abass (Y
v A8 e wilgd el 28 ol as as e o e (F
1 X QYU iy o yd 4l Jlio jlages 5o
rA A
s B

K el 2B (O
g N .\:\--i' ‘_’.C.bLT JL> ).) (Y
" b sl a8 > s (¥
355 e Ul oo (F

X

) —

IR RVALY

~FA

-¥4

_Ao

-

-0y



Slilono plot Joxo

Ve axio S11A 3 5 sl

bwgio ay3a oo il Q= LK )90 @ adg b a5 F)ge0 50
fuwl g0 a2 4 (LAC) wuenids

e (Y 8 ()

il (0900 (s 3 Iy ol (F oy (¥
il Q=50 LY — LT &5 4 (15 Guto olisS wdgi i &5 (g y9 50
e golazdl aklais alaS 50 whils 63905 pladiul 45 (o g YO Oluad olSis

(.‘\))ln) )')5

adai golatil pas adhaze (Y adgi galazdl sl adlaie ()
Sl pdo Sl adlazs 4w o (F Ay (golaidl pgw ddlais (Y
WS oLl

JU bee 10 Eae gl bl JUy Gombae TP (pasid ailalo wal 5o w58
GMNF o s Dl Sy [y 393 aal 3o 51 s ygubno F g 0ylal lgie & 1,
ol @o=ix> 31 JLo )y (yamalao ¥ Coaiimod .alS 0 S 10y olo (glul H0 Lo iy
G531 Ky bl 1 53l 53 oukile Bl iSgdb g0 puuS 3Bl 30 ply bludl gl
J gl w2 Jor sl 058 opl (ol LA 09 o0 4y 38 LS gisy

el
A (Y f QO
Y¥ (F Y

iyl @l p2j owal 51 Sy plas (yons 3 Jg SLOW (5595 50

il o8 ey ey Jas. el el ys )

elaiasd gl s d 155 s (SLIE 4y 15 S olisS 55 (¥

S oo Bl Sljls as DLl e a ) e (Lol (F

WMy ) asily guass 4o )3 ©505 48 SBge w3 Sy aie w Ly Jos (F
(535 yo Sk 4 LS (A Cawl Jhuo (535 3o UL 4T (b y9lS )0

R I Vot ulj ua)S ;il>-‘ ‘J’ (Y w' R 4;9; Ua)s );’.L>‘> ‘)" (\
D90 3 (o )3 (G4 5 3k g O L ol pod (palsd (Soie 0925l 50

° U] D
P | ‘
, bl Jg O
: N
- oot a0
T

-0Ff

-00

-0f

-ov

-0A

-84



Oluilone plout oo

) axio 511A S Ll

= 4y bgi o soluus 31 K plas yo (stagflation) o)e5 995, cusoy
{ TOM I PR

(saed DL gy adgl edd e ()

O d ke ST L ool bowd eedid e (Y

ol (Foeie S (g Sl (F

ooty el sl b g3 lBKaidlS uiled isis (F

&= ST Aoy ymol (Gl g 31 Sy P I (ol Sy
1@ pb 1 Yol pidon olasdl jo ol )liF e lo

PLQ,-' )Ll:..;' ()

Pl 453 3l s (Y

Sl 5 e Eilipa 31 alyisd ¥

Lol 00l ppanndty Sgew b 00l (51005 0925 (F

i Zame &yl ol

el (PULtY - putty) goi 5l Ll 535250 ;3 (5,135 ae ps ()

el QLS ol s LSl (608 00 53 00l (g5 el 6 )l3 Lo p (Y

el GLS Lol a5 LSl (g39350 40 00l (g3 ya0li (g 0T asls s (Y

1y Sgmi 7 5lko o s et ol 30 s b 031 0315 el yo dnds y3 oo
............... 4 Cowl bgyyo ol g widd 0 (381

Loodeld ,_:.: ;s“-“" J).a.o ()

)355} «J)..:u 3 );\fé,} .Lni)b ‘\.Imb (Y

Erae gl 5 35055 el ala (T

o1 dal s g el B ran b 438045 U pae  Sowren (F

il (6 i B ymsio Lo B puarn 45 JU 50 zylko (goul 3w o =A
FrtS090m gul a2l U pae o5 (o 50 7)o suul3d oy po =B
LD SlalRsdge — 95T b pun quls a5 o3 081 50 g2 loko 032138 it i =€ il
Sl o e plas .Cawl of job (S0 0 Cudguse

B>A>C (v B>C>A (

A>C>B (f A>B>C (v

00y (o (sl il 33 y9uS S il pas el 33 (oka ) 45 5 510905 )
Poms ookl ady Juo Cozyly pot blio jo Iny s pud Foad ol
fCawl 390 plas’ o381 S5l

Iny
L sy O
Film E5 (Y

3 Sty 0 5 (F

-#1

-7y

Sl

-#0



Oluilone plaut Jowo

VY axio 511A oW olassl

Ay 5o (ol (Jom Gl alopus JolF 5 2 b ol 5,1 2 55 o3 50
(el 3yl € g iwd mhaw P) 038 0 i > g0 Do

Y els g € camlite (l3l g P lid ()

Y ol 5 € el l3il g P sl (Y

€ welite Aulidl o P 2alal (Y

shaim 33a2ud ialy¥ 5 € jiaS ioliEl g P als (F

(NX =0) gl 3l bas g ol Jol5 Jlisdil 31 oS gy slasdl Sy o
plas 0,00 I8 b5 Jaid! Jaamo car Caoww g AS 10 Jolad Caonly Caouw 0
JUdl gdas )0 Glopd Jolai & ) olasl (55,1 9 (Jlo (slecumwlons 5l oS
fo koo pgoa) Jol5

R el - tdgs slay > rals ()

Jg vl omels - Sdgo laay 5 a8l (Y

gs glavy > als - g (85 el (F

s slaws > palS L BB g o)) oRIF(F

el 3l Sl o pa0 5 ST IS Lol IS adye 598l g2l 5o

b o BlEAY Al oo SRal58 ()

il Aol L il G S (F il o i3] e 9 2018 Tzl (¥
F(N)y canmig @ F(N) cundg 5l g ool by I Lol e )51
................ 5 adye oo A alaiis b bl abii y0 0S5 pudi

w4l
P
A
gse Faiy ()
00 r(N), PR RS nC a) ¢
N ..\.5‘54» preeh (¥

D3 JomdnS Casl HSen g Fowd » Cul SN (F

£ 095 e [ =T &y90 4 NS 0l 3 (I JS 4656 Snio 51
B e v JTe o i ¥ g e BUL'BER Y™
LM _ Jg (Y IS - Jgame ()

IS - Jas (F LM _ Jsame (¥

................. IS-LM 6l80d 53 eSS 551 j5 blunsil Jlo ol
3,15 J5 Jgare S 5 5 (55586 ()

S S slolis s il (¥

25 0y E5 2 636 (F

3 g0yt |y 6 )l05 Lo oo (F

o] Candg plas ,Sils LM oo by g Caly oo bl

Solee Glysl ad e Slile (¥ Sl Glsl slata sl (0

Jg a5, olke (F Y as e olbs (V

-#v

-#A

..Y'

-¥\

Al



Slilone plout Jouo

VW oaxao 511A oW olassl

G ygmo 4 Jom lbll il =i aw 581 S5 50 IS-LM oiws jo
: My
I=\oco—Ycoor O ygmo a5 )I0F 4 Lo yrss &by T:n/\y—hr

Sldlle &3 9 Bpae 43 5 Jao ol ¥ 98I 31 10G 0033150 oty anst
oyt £y (Fd> Uy Pl aslg Voo bl o/ VO g0/ A plp ey @

fly o (RO sk
coyold (¥ o ()
o) (f oy oA (Y

a5 uol yo 7)o = ol 53 (5951 30 Jiuuwo Zjlko ulg Yo O Sl L
O ygmae b ot (ol 2ol )1 ol a8l o381 aalg YOO (gojluil

M
Jo= o 0l judiz oS 9810l 1 Jgy 515l g il Td =o/y—hr

G 5y 040 £ U o il 81 A

Yo (Y Yo ()
do (F fo (¥
Wl 29500 3y (DI olaidl | Juw

C=Ab+0,¥8Yd, I=40° , G =180, TR =100, t=0¥o

fluwl yuda 409 0ljlo oyl 3o D5 SLai8l Jolai jo

—Yo (Y =Ao (A

+ Ao (F +Yo (¥

o 9 0 Pyl o B sl BB ol 30 51 8 e 0 26 Jo b sLaasBl (g

a>1g 105 1) 093 slaw 3 Cdgo azliy .Cuwl o/ ¥ plp Oyl & (26

fab oo ol waly wix (g b 155 was fals

Yo (Y do ()

Voo (f Yoo (¥

VI8 cdgs )lhe oyl b )l el yd iy dws (598U Sy )y

Sl330 e aud 4l hal58 An1g 180 B pae cpalosls Gl 1, G oo

(I=T) Sl juda iy 4y Jilsél s G

Yoo _ Ao (¥ VWO do ()

Yoo _\Yo (f Ydo _ Yoo (¥

] o yob @yl plas

el 28 g Y asld cwacs . Sle ji8 sl ()

Y pasld 5l 2 ;28 el oS il l3 &g po (Y
W]

g4l (atlh o (e p)gf (ptid (oSl i3 aSlh (e )5 (V
sl 5 Y

g el 23S 1 (e 098 (ple> 5k 208 (aSLS (s )98 (F

Al

-V¥

-V

-y

Al

-YA



Oluilone plout Jowo

VF axao 511A oW olassl

390 pluS Wl Sl uslg 1000 Ldd e pdb dgu ho wol 50 (3950 5o ST

€0 S o0 518 il cos

wamd el p ol (Y 00 fpaanais Sguw ()

e Il g pogas O jane (F st a5 sl o (V
53,105 3929 (o wel 30 33 390 plaS

ol (glo L ..\.J).) (Y Gl J.»—l)b ()

el (glo o 2l jo J5 (F ool gl Lo sl ys (¥

L)

Wil ACBCC a5 5)9-b 4009 99520 C 9B g A acg0mmo 4w )51
sl Cawyob 5 baly 51 Sy plos

(B-A)UC=C (v AUBNO CA O
(AUB)N(ANC)=A (¥ (ANC)c(BNA) (v

i drg? (399mt gDy O dalS uiy ECONOMIS anlS Gy y> 31 osbiust b
iy 518 o2 LS 100 Gy 5 o o &5 Colo i o0 o paee

YPo (¥ \WYo ()
Yo (f fAo (¥
Vi :
?C«.u‘v;:,,.cphfq‘z=‘_—i Llixe sus
- ... 10 i
c057+1sm? 41 COSTL+1SINTT ()
Y .. YR ) RTI |
cos— +1sin— (¥ cos—+1s1mn— (v
Y Y ¥ f

. I
fewl plas' y = T & wekao

In(x +Vx" +1) (¥ In(x—vx"+1) O
In(¥Yx + xY+f) (f n(x+\/x'+f) (v
—X
e

1
X

e P—
sl oyl plas plp y o — i b oy
et +e ¥
[o,00) (¥ (=0, +90) ()
(—).)) (f Bl E

YA il pyos alozr @32 vy (V1= X+ YV X)" 0yl fauy 50 51
¢l a5 N jlade (ol

Y (Y £ ()

Vo (f A Y

-v4

_Ao

-A

~AY

-AY

~AF

-AD

-AF



Sllone plout Joo

18 axiuo 511A ol

x+Y
fow! plas X =Y ‘5|5|4._.y=—x+v U @m0 3l sa o Fiiio
G (¥ o ()
Vo! (F yY!oy

¢l pls . I ‘e JxLnxdx J1,850 Jol>

Y Y
?(‘/E_\) (¥ ;(eﬁ+v) q
Y Y
F(1,/3—\) (f —r-(e\/g+Y) (¥
Yx+\) x<o
H S plas X =0 alai yo f(X) =4 X=0 doleo & f bl 6l
YX—=) x>0

§ ! \:.«»)éu ») é)‘,n
V ple e as (Y LSO I g o
PO ymitin 4y ip g ploogi Foomo0 YIS & glp adyi ol gy 30 51

O sy alali Bl plogi Y00 ualg ja (B9 )8 Cuond 50 hg 8 wuoyd

f ol plas ol
fhoo (Y fooo ()
Noo (f Hdooo (¥

X+Y
x+Y
p‘u‘&H@_l@dwqxw&By=( ) PR ES

X—)\
¢!
e’ (v e’ o
e (f e’ (v
n " Y
Wl Y B Y 9l X ol )3 &5 L Y = ©j90 4 LW &b S
X

tly Coml ol s Canad ) S LW Sl

\

—— (Y =Y ()
Y ( (

X y
= (f —— (\"

y X
99 Jlow 0z 5l HgadS ooz (bl Moy T el ez 0 £ 55 )51
fogdign ply
Voolny (¥ Ylnae ()

vYlnyoo (f dolny (v

-AY

-AA

A%

_‘o

-4

-ay

-ay



Olilone plout Jowo

V¥ axivo 511A iy

YIS Caond ¥ g ylade X T 50 a5 bl Y =10 =YX VI gl Lol aubi 51

ol Sauw ¢ X slutiio plaS ol3l & el TC = X"+ PX+ ) U5 a3 g con

Pl s 350
Vo (Y ' ()
Yo (F Y (¥

?wlpl.\s.l='[\/8;dx JISal ol
©oWx"+y

Y (¥ \ ()

F(f Y

Wbl oo Camond Y g Lo X . Camnl 00 oy LOWET g dud e 2ol 3oy IS0 50
¥ ! Sy ol 5 95lg0 31 S plus

E Hhb Jobss akass ()

oaziSas,e sl =Sy + Sy (¥
Sy Cluws = 005G e 3ljle (V
Sp coliw = saiSadg ojle (F

X

390 (yad jguato o D Qi o as I= _nydxdy alfqo Jl,i‘:ﬂ ylade
D
ol plus bl oo X =) g ¥ =X bghs glax

\

41 \

(¥ (v

>|— | —

Y
\
7

\ Y Y ¥ [\

Y ! =Y o Y
= =¥V =¥ —F —b
Y ¥ 4 L

el plas A = o yle (Rank) 4

Y Y (O

b (f ¥y
VY Y Of

teut plas | B= | : : : Gl hdka
Y YV Y\ o

¥ (Y —¥ O

7 (f =8 (¥

-4f

RN

-4f

-qy

-43



Sllone ploit Joo

W axio 511A i

¢l plas (Q 4 (X) = VXY + X} 45X Xy pg0 4253 o casdle

i e (T S Cpare ()

it o b |y o (F Syl

o s o U=YqyQy loo—isd y—an copgllao il )51
Caanl AT 0T D o Contallan wos ;5o sl bl ¥y + Bqy = Yo
Y$o (¥ fAo ()

YAo (f Yfo (¥

Yol e 390 ploS Z = \'x'+xy+\'y* U i g Loxd )50 50

s hos1 v suda dads ()
S pa i paie (F e [T (¥
r =1 &l az+ 'az o ylas > —x"-’-yv Sl al! |
Y= é)ﬂxax yay ) lee Jo ‘Z—XY—VY iy Al S
fowl plas X=Y ¢
2 (¥ 0(\

[ Y

Gl ol (P ymito (XHV)YAX — (Y +V)XAY =0 Jumuiil jiy s dlolro
fewlplas X =Y =) il @ Juail ya00 dlolao ol oguas

XU+ y' =vxy (v X+y =YXy ()
v 7
YX—y=In=+)\ (f X—y=In= (v
X X

Scal p1a8 T(X) = €"% &l ¢y 5a0iSo dauws Jal alas dus g 902m

X XY Y
\+ —+— (Y YVEYX HYX ()
V!
Y

X X
ev(\+v+7) (f e’ +xe’ +vxe’ (v

Yoo

=14

=\eY

WY

-\of



Sllone plout Jouo

VA axio 511A S

bt B o Y e Gl g F Kl b Jloy 20598 1yl X o )51
feal plas’ plp P(y 21) o7 il y=x—Y

oy (Y ord ()

o4 (f or AD (Y

Oloj aSST Jlesa! .and oo 75 Bokai 10 Sluai caslu o 50 o3l S Slazel 4o
Foaw! plus (bl addo ¥ J8los Bolai 90 £989 (yu

e’ (v e ()

e M (¢ e’

Fovalin jl L8 4yl Jlaio| . 0uiS o0 QU pud 419y )L F g8 Ul glasiu
CCmmnz b £989 s 49, HL A Sluw b a9 b

\ \ ) \
ChEO'O « ChO'O" o
Y Y Y Y
\ \ R I
() Ch )" o
Y Y A\ Y
oo 5 Jlasal 51510 A4S sl (5 poliie Jolds amd 9 (ya03] S5 0y dusls
| w33 oo 4o B a5 Sloj S s
oo — 25 AY Jlie - 5 ()
o -0l (F Jles — gl (V¥

ao il wlwlp .cowl{cs) Lo Mo gl)lo arcls aujgd wS (28
WSy wigad SO sy wiged slaaSilo @397 (55 0

A aeles Soop e ausel 4 (Y ol Cude Koz slls ()
WS oa S glalez g0 maie 5l (F cwl e ez gl)lo aizmen (¥

50, T ilaylg g U oSl Lo Xy 9 Xy geeey X (B0lad o M

- - S \ n s . .
«-ew');»'wy*eu=n A zxi OIomad il 9 sl
-0
i=1)
?QN'p'de'])ﬁ
Y ‘ GY .
3 e (¥ 5 e ()
n—y\)\ n—\e
Y Y
c -u c -u
— (f ) (v
n n—\o n—\\ n—\e

0 Culel Jloio 008 oo SOl Bun G Byb a4 Jiiuw job as jL 1Y (69,8
Blas (SULG Y ol 31 a8 pl Jlads!.cawl o7 4 Gas 4 oo Sl dlgls
Foawwl plas plp 0 Colol Bud @ S

(e (v o\ ()

V—(o2)'7 (f Vv=(eN)'" v

—-\OF

-\.Y

-\+A

-1\

-Mm

-1y



Oluilone plaut Jowo

14 axiio 511A Lo

S P N(I,07) Yoy i S 3o
S lodio oty Zo, YA =Y g P(x < V) =P(x>—-0)=0,aV0

Wil i 4 O g

Yo (Y L 8

9 (F ,Y (¥

9 il &g 9 S ;3 ailjey odds disg,d LAY Slowi X 181
syt oo ail YL X 59,8 51 Jeol> ailjg, delyo Yy =Yoo X —=Yo
Sl plaS 2l ¥ 9 X G gy (Shmmnod

o (Y -\ Q

V (F o/ (¥

Coniyd 125 3,190 31 S plaS P g g5 sllas 5 O Jgl g g sl b byl 5o
faw!

at+f=)0

o+pP> (v

a+p<y v

il sl 5l 2B L 5SS il ol oKen L HP (F

Laools woys wiz Jolds Blas> U YO alold wdls Jbop glarels azibis

A

LANA (Y AT

LAY (f LA F (¥

oy s a8 (dnaler (paSilio) L 51 (aigni (5ailia) T 553391 4 9390 59
¢l

el B3l )b Jas E5501 5 0 2 X ()

Syl }lo)s-lﬁ)a&,.‘idgo}lgsfuﬁd_l)lfi (Y

e Wl o)l sl 5851 aiga aile 5 X (T

sl 3l el 505815 e X (F

69 Gy Loy e Job (el 45 Cul 03 )5 Ledl (gloniss ud g
el oyl an U (61 (503 Wl JLio 4 bo )51 .ol yioghsS YBo OO Sl
Fal plaS Lars )3 7o pai 09asd (oaidly

H,:pu>vdoco | Hy:pu<vdooo ()

H,:W=Ydooe | H,:U<Ybdooo (¥

H,:W=Ybdooo | H,:Uu>Ybooo (¥

Hy:pu<Ydooo , H,:pu2vdooo (f

-1y

-1\¥

-1

-\\¢

-1y

-NA



Oluilone plaut Jowo

Yo amiio 511A Lo

s3olai slacass 31 5 plas K ul38l b ol&T wisl W~ % "(K) asibs
fog wales Jloy (oilme 22599 SLHIS 25

W W ()
k

W ($ \rVY (‘ﬂ
vk k

75090 2 5 slopoylol 51y plas (W) ameler (5Silo (092 polre (2,8 b

Cogr ablys (G7) anolr uilsly 31 o

—_ Y
% v &-w' o
n n
Z(Xi—H)Y z(xi_u)v
1=\ (f 1=} (\,
n-—\»\ n

fodlen 1) GBS 39 3 S S (611 (pleicunyd 2STas 53,1
Jboy lme 588 5 (e 2L 6,550 O

Jbos @5 9 @B vl (7

5 5 65k (Y

L 5 s (F

10 aduold Sy dwd ) (g3 50

H :u.—.\:;o
Hy:pu<)eo

1ol ouel Cawd & X =110 wiges (ufilo g Jlo i arol> azilis
Sedigedy Hy sy ()
Syigei sy Ho aps by
Sl Koy Gz polie gt Cos 4 ogas il 15 (5T pmeas (¥
S (S Sl polie 57 (ygail ool Jako ay (ogas- ool 3 (6 S peanat (F
W (Glo) G S bl 3 (D) band (cogas zdaw 9 (M) Jgy adye (o
1wl 00l 0)9l ) Dy @ gladuly Al
pP=VYA+o/fM var(ﬁ)=o,o\
Sl a1 My pd 3099 18 o (39031 0kel gous jladie
& (Y fO
Y (f 2\

-4

_\YO

-

-y

-\yY



Slilone plout Joo

YY) axio 511A o

E 9= dmw 30 YL g3 a5 ool (ol sl (yg05T oylol (p35 Soledbl ol 5
] plaS ! sy Jlosal 5110 Z 9w il gaisdium

z - =) S A £ 9

\Yo Ao \co &,yg,é‘sln!lfal.w"

R =N VY= A
Xy =¥%¥ (F Xe=A ¢

d o Baigei (sudyi ualy 7y (5590 1 eSlee o IS a0 sekie @
0yl e sl ool Cwsd & o5 i g o (gysl e M=TO o>

Couwl plas 09“’51
k

k n
ZZ(xij‘ii)v =foe n 2(i| —:i)Y=A

i=) i=) i=)

Y
=F YO
o

\V(fF (v

- | &

-\Yf

A



YYaxio 511A (oSt SLadl g, uSil 5 it « s0808 (st « Mallirns dalle o Madlipms &,l5) s o5 4 pacne

.................. Syl i SRS e 58S, T hats SR 0 st RMS S S 5 leF ol (&5 e 351
Dgdee Sz - JEe b 5 o S 4 (Y By se S8 - A (oo i ()
S oo il = 390 o6 S0 0l § oz Seew 4 (F Sebier Sy Jie Vb g Sl S o (F
b ! yada ©)land Calio Cooluns 95419, Hlog0d 50
Y
Yo ()
Yo (Y
$oo (¥
VYoo (f
° ;o .fa Ao Q\
Samel pIS b M 0
LS Eely A5 34 5y ccloghl & Wsbos Ay Gl Kae S eSS oy Ralsil el e & a1 ST O
B35 19a5 old,
S el 4 30 5y celogll a5 a1 4 el K Sgd 49 S ol ialsil el ol 4 gladolia S ST (Y
B35 ;alS S ol

i alS 152 (S, ol gyt 1 g ol ey spugs SR o absigo £y 2o 55 (T
.b,.:a )9..5\5.30@) u&wwséﬁés; ;I,AJQLA A.EJ')ASMJ‘;O c)‘.;:.'b )Q(f
fol Jo digfs i 49 sloxo

$lad 5 slacusgazma 28,5 A o L (Y

et aloy 4 Gladl ale s (29381 L (Y

3,90 ann (F

1 wbdio & G ouol38 003 0929 L

sl s e > fae 4 s 0l DU pioeie  ansls ()

il 2l |y (gl Somdg Sl g 5l sl 925 58 jlogm aile g0 o)l sl (F

ol RSl gl ailer g ol o 5wl 4ty LSy sy i e 5 528 50 ST (2 (Y

il Sglie 028 93 58 sl (el o e 5 udy DU (gt (Sl 5925 53 jlogm 4l g0 Dl sl (F
C s g Oyl plas’

Redien 5) £5 sy el crge )l il L O

el 3y 25 plogd ) (0l Sy LS Sl g (¥

P Sy 70 g ol pdiSi b ai )l 25 plug L “-I“-.")_ »

sl oles Ala (B985l a3l el D be () )l Slgw (F

Sl Gl ©jles 551 25 e S0 (2 e o F g9l o

Jg adse GlB (Y S olisS )3 Ceed  Saiez ()

<lyUal (F sl ES Sea (Y

1 (oaisl Jlow 3 Jlmsmsl) 351 & 3 (ommiznd 0l 030 0 3 V i 4 gyl 5 5l 50 ke oligS 0 49 &3 S (5,8
Tl 2y Wiz (2992 (S0 yoar (Jby 0002 E 5 o pS Y5 53 9590 52 JU Fo000

VY (F Y (v b (Y YO

P JUasle byl 55l €55 Gl bl b & conl ool ke I (Soie

I g SON! [ e

e 18 0)bg0 (Fone lam Lel o a1 3l (F Dgdsn Ghme (e dw S 8 lanl (7
£o9ub g0i a5l Wl 35 1§ Wiolae I Sy plas

i g o9 Sloas &l ol (¥ Szl glacslsy, (1

5 olee 3yl a5 5l Jealo Sgms (F 1325 K oL daugi A5 YIS &y 5 (F

-\Y#

-\Yy

-1YA

-4

~\Y.

-

-\YY

ry

-1Y¥

-7



YYaxao S11A (padbol SLaidl o5 ISl 3 o3+ ropas ks o Mol &l o Jallirsr o )ld) ot g0 A gae

351 Gl & jlae Sloos g YL ol )5 23395 b O puco j0 €97 3 alug? by

MRTS{y = MRTS, (¥ MRS, = MRS}, (1
MRSZ, = MRTSy (f MP,, = MP,, (t

fably o0 7 ylae Slazdl j3 Cdgs oIl (gldjlane (lgie 42 0y 5 3,90 51 SO plas
ke oLl s lsas o IS 5l Sdgo slaa 3o piem ()
woho olazdl jo LS IS 5 Sgs i MELS g (Y
ko slazdl ;> azd F alomil slavs a8l pus S5 5 g o (Y
o olazdl (o cdss Jb alie )0 45,8 @lysl 5 pose 5l L) Rl s (F
LW JPRVI I PN OPPRCHIN PRSPV
S peis Sl 55 el 258 L (Y Wil bawge #5551 min Sles 5 (O
b il Sl Jade aelje 2ol58l L (F b ols Sl 2 Sl o il b (¥
WS 2y Oladle Jloy ¥ s 75 0 p g g P=F4+Q Tas,e g P=Y0-YQ K slolii o5 2
b Sl il s Sl 1) pas oylae
Y v
Y (f ? (Y \ (Y ? Q
bl go St (1l L3 53 ki o215 ol o o 30 S5 A 305 5 1S 4
s o 18 Lae ) ol Ko 5e3 lais 1S emeal ;0 Logas o A1 ()
s Sl asa gy dlslee (oadly slis o (Y
)18 337y aden b ll 28l sLis o (V
ol s 3190 dan (F
sl g 5l oIS sl Ghal3él 515 SWVIS (ot pleor sl SLOLS 5 bl a5 ¢ 5 ol 51

b oo SRplS 5l F g Al ulidl 5l as e (Y WS pad (6 et )l 5 g axdl palS 5l glalis ()

il aalys (tlsl 50 &g azil 2als ;) slolis (F ROt VS PR [+ S [ RPUE R [ N PSP |
.............. Loyl 20 ply ©yod g 4ibl e LASSL (g0 plad wily (bl SO W00 yu 93l8 0 a3 F 45 )51
b 0

SRl o a8l (F ol 8l o et (v ol s (Y oels - el ()
LS g0 (5SS 900 4 ) 995 g5 (s S5 0131 3y SLOUE 390 30 (ot (21310 nms 155 oo
as @l (¥ Jgz (4

458 Gyl Sjpe 4 o0 255 sy (F 53 2 U 9 428 @l (¥

fadl oo Jop and lirl Sl 9590 plas

Jooas 518Gl s 5 g3l sloos s (F Il e g Jlois (108wl s (sloos ,n ()

Goloud (glrod s g jlocine (6,105 Lo s 03 j (F Sl e (6200 yes g (g5l (L0 ps (Y

et 03 gyt g Jomy GLOWE @25 31l 5 Jeolo el 50 omrgi Jgy LS a1 a0 b v )3 B9 o Samy 31 L
3,5 ablygs yundi 4982 iy

s a3l ¢ alS” (Y Ol Glalal s yeuu ()

2 g e RIS (F ol lE el (7

TP [ PR » ojl_,i oo dages 5 3 celad| yiled

b yan (¥ S g (7 Selyo (¥ Sy (\

S8 (o0 Jato Jo2 )ik a2 1) (2050 5150 pedie plas’ gadlul sladl 53

ojgn )l sgw 25 (F (AUJIE) SOl o (7 3508 5w g i (V oxe &5 ()
fadlboei p3¥ hlw g 30 03,90 plas

VB 2w ploj Gmess (V VB 99 959 (4

S B i eloa 53 YIS slae oo (F G5 5 o8 Sloogas 537
sl gloasls 4z Lo p aoluno Glg3g0 o A5 Cudgi

J._.,....Gm oucls (F colals cueld (Y yre Ls‘°“ sasls (Y O oasls ()
2o 45 g s (6 3t din (i (et (ST ASLOES § (Sl AUE (3o e ool Gadai 3350 51

| (Ot 0SS 46 y2) 092 9 lealio @8l b Salod (Olous ik 50 (SO O B ucs Lol
LSb g9, Jbslo b ablie (F sreY oaeld ol > (Y Slglas g cllae (¥ oS i ()

-\yy

-\Yy

-1YA

-1

_‘?0

-F\

-\FY

-\¥Y

-\F¥

-1¥Fo

-\¥#

-\FY

-\FA

-1¥F4

_‘AQ



	00
	1105



